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Question 1. In a row of children, Rashi is fifteenth from left. If Ramesh who is twenty ninth from the right interchanges his position, Rashi becomes twenty sixth from
left. How many children are there in the row?

Sl T Ueh Gl & I 10§ 155 TR I §|Ffe Wer sifeh e & 29 & T 9 8,379 TN 1 Seelall 8,7 TR S10 F 262 g1 Siiclt §| Giered & ool fohetar sredt &
Options:

a) 56

b) 64

c) 54

d) 45

Correct Answer: 54
Candidate Answer: 54

Question 2. In the following question, choose the correct mirror-image from amongst the four alternatives
represented by a line XY.

eI wreat # 3T 21w faevedt A), B), C) 3R D)& & wéY ador wfafess I giad| ador 3@ XY g ge

o D

TR

Options:
a)

b_)
0
)
Correct Answer:

Candidate Answer:
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Question 3. Find out the alternative figure which contains the given figure.

e ot & & 3 3epfar B Tgar RS fSras gee THi Wd &

b)

)

d)

i

Correct Answer:

H

Candidate Answer:

Question 4. Identify the symbols to be inserted to make the expression correct.
92 * 4 *2 *184

T THGIOT 7 92 * 4 *2 *184 TEY Tehdl T IgdleT Y ToTady THHOT T &
Options:

a)x+x

b) =x+

)X+ =

d) +=x

Correct Answer: x + =

Candidate Answer: x + =

Question 5. Select the related letters/words/numbers from the given alternatives.
TeU 91T faehot # & gealetied 7R/ rsel/aEansit @ giw|



5:36::7:7

Options:

a) 36

b) 49

c) 64

d) 81

Correct Answer: 64
Candidate Answer: 64

Question 6. Select the related letters/words/numbers from the given alternatives.

feu a1v faehedl 7 & Traieted R/ sel/FEanst # g

GDM : ROX :: AOP : ?
Options:

a) MZA

b) LAB

c) LZA

d) MBA

Correct Answer: LZA
Candidate Answer: LAB

Question 7. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options.

rfafd v 7 v siwer & 718 ¢, ores v o ve & 31w deand/at aed § e i et 7 § @8 seav g

J2Z, K4X, L7V, M11T, ?
Options:

a) O17R

b) N17S

c) R16N

d) N16R

Correct Answer: N16R

Candidate Answer: N16R

Question 8. In the following question, a series is given with one or more number

et gea # v siwen & a1 8, forast v a1 v & a1t deand/act oed &

7,10, 19, 22,31,?
Options:

a) 32

b) 34

c) 36

d) 44

Correct Answer: 34
Candidate Answer: 34

Question 9. Select the related letters/words/numbers from iven alternatives.

T a1e fashedt 7 @ Trafrecd 3R/ reel/TEEil I T

Horse: Gallop::Lamb: ?
0Ner 8 i TGl AT ?
Options:

a) Lumber

&S

b) Flit

EERSICH

c) Amble

& aife & e

d) Frisk

357 &

Correct Answer: Frisk
SRk

Candidate Answer: Frisk
359 74

Question 10. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options.

ol geaT 3 Ue Ao & 715 &, Sret v a1 v o 31t et /ot aed ] v i et 7 @ w81 3eck 9|

_AT__TM__S__



Options:

a) AASTAMS
b) TATASAM
c) SSAATAT
d) MSAATAT

Correct Answer: MSAATAT
Candidate Answer: SSAATAT

Question 11. From the given alternative words, select the word which cannot be formed using the letters of the given words.

R 31T faehedt H & 39 Ueg, T TIA ST it fET 1T Qg & 78R A 8T TATIT T TehT 8

EFFORESCENT
Options:

a) ORESTC

b) FOREST

c) DECENT

d) SERTEO

Correct Answer: DECENT
Candidate Answer: DECENT

Question 12. Select the odd words/numbers/letters/pairs from the given alternatives.
Teu 91T faehoat 7 & fawa erecl/deansil/ 3eri/grat # gy
Options:

a) Abstract

Freaferen

b) Colonialism

ERIGEREIC

c) Surrealism

sifaarare

d) Futurism

HigsIaE

Correct Answer: Colonialism

EEIECRCICY

Candidate Answer: Colonialism

3ufaaemare

Question 13. A square sheet of paper is folded and punched as shown

FeT &1 FeR e @1 o rgar st 3R o s 8| 7
N
A

it look when opened?

Options:
a)

o

b)

<)

d)



Correct Answer:

Candidate Answer:

Question 14. In the following question, a word is represented by only one set of numbers as given in any one of the alternatives. The set of numbers given in the
alternatives is represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered 0 to 4 and that of Matrix II
are numbered 5 to 9. A letter from these matrices can be represented first by its row and then by its column, example, C can be represented by 55, 69, etc. and D
can be represented by 59, 68, etc.

AT T2 7 Uah 2GSl Ueh HEAT HHg GaRT GITT 1T § S o faeront 3 & fondly wan 3 o aram §| faredtl 31 @ T 910 Heeam wogg 18R & & a9t gan aefie
1w o & i fou 91w aegp-l F T AR dRa 0 W4 A S AR IR L A5 FIA T E| 3 T 7T 318 T Ugel 3R diFd 31T 1 3 w7
TEIT SaRT =T 31T €, 381607 % faIw C &t 55,69 Seanfe 31K D &l 59,68 Scanfe; gaRT U fHid foham ST TeheT 8|

/

Identify the set for the word CHILD.
CHILD greg; & foiw & &1 9gar &Y
Matrix I Matrix II e ./>
(TG - 1) (3G - 1)
o123 ]a

ol |1 |R|T|H

1|1 |r|(T|H|E

2|R|(T|H|B|I

EH RN EREREEE:]

alu|e|z|r]|T

Options:

a) 55, 13,42, 79, 68

b) 96, 22, 97, 24, 13

c) 96, 13,42, 79, 13

d) 55, 22, 97, 24, 68

Correct Answer: 55, 13, 42, 79, 68
Candidate Answer: 55, 13, 42, 79, 68

Question 15. From the given alternative words, select the word which cannot be formed using the letters of the given words.

R 31T fashedt H & 39 Ueg, T TIA ST it feT 1T Qe & 38R A 18T TATIT T TehT 8

SENTIMENT
Options:
a) SENT

b) MENT

c) TIME

d) NOTS

Correct Answer: MENT
Candidate Answer: NOTS

Question 16. Select the odd words/numbers/letters/pairs from the given alternatives.
U 10 fenedl 7 & fawer erecl/aEaT3i/ 3R/ g7 1 gfav|

Options:

a) 1001

b) 715

c) 429



d) 390
Correct Answer: 390
Candidate Answer: 1001

Question 17. Below some statements are given, followed by some conclusions. You have to consider the statements to be true even if they seem to be at variance
from commonly known facts. You have to decide which of the given conclusions, if any, follow from the given statements.

A Fo Y o 70§, Foe a1e o vy e a1e §|3mdent o v syt & w6 A § O A 9 wdfafea avg @ et w2t 7 gf| s Aok o § fn few oo
forsepsit 3 I ieT-aT forseh eyt T HTEROT Helr &

Statements:
EICH

Some pens are pencils.

TS oo 9feae |

Some pencils are erasers.
Fo Ifae T

Some erasers are sharpeners.

FS W AT

Conclusions:

sy

I: Some sharpeners are pens.
TS AT 9 §

II. Some pencils are sharpeners.
Fo I amie §

III. Some erasers are pens.

FO & U

Options:

a) None follows

IS ITTEIOT 6T Al

b) Only II follows

Tl 11 3T]ER0T AT &

c) Only III follows

el 111 38T Ll &

d) All follow

T 3reTEROT A

Correct Answer: None follows
IS IHTENOT TG T
Candidate Answer: None follows
IS T AT 6T Al

Question 18. Select the related letters/words/numbers fro

u a1v el # & Frafetred R/ Aredl/HEsil &I diEe|

JAUNDICE: AJNUIDEC :: METAPHOR : ?
Options:

a) EMATHPRO

b) EMAPROTH

c) ETHPMARO

d) EAMTHPRO

Correct Answer: EMATHPRO
Candidate Answer: EMATHPRO

Question 19. Observe the series and figure out the pattern used to form it. What will be the next term of the series?
S S T HETTA Y 3T THT YesT TdT o | ST STl T 33Tell Ug, FIT gHEI?

1,3,6,10,15,_?_
Options:

a) 32

b) 36

c) 42

d) 34

Correct Answer: 36
Candidate Answer: 36

Question 20. Six regular Hexagons of side 5 cm are joined together to form the figure given below. What is the perimeter of this figure?



5 Q0 ST ATEY 6 TR Y TR T Y T SN |3 I B IR 7 HY

Options:

a) 210

b) 180

c) 120

d) 240

Correct Answer: 120
Candidate Answer: 210

represented by a line XY.

Question 21. In the following question, choose the correct mirror-image from amongst the four alternatives A), B), C) and D) given along with it. The mirror may be
fAeifand weat # faw arv fawedt A), B), C) 3R D) & @& ador ufafes st 9| ador War XY gart vefia faar s gendr 2

f
A
JJIPM

Frrerrrss

-

9

d)

Candidate Answer:



Question 22. In the following question, a word is represented by only one set of numbers as given in any one of the alternatives. The set of numbers given in the
alternatives is represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered 0 to 4 and that of Matrix II
are numbered 5 to 9. A letter from these matrices can be represented first by its row and then by its column, example, C can be represented by 55, 69, etc. and D
can be represented by 59, 68, etc.

ATl e & T Ueg el Ueh HEAT Hog AR G=fim a1 § S o faeredt 7 & el vk 3 o aram @ Farenell # @ fw a0 deeam @egg 38R o & g9t ganr a=fie
T &, S 3 oA T T Jmep-1 & Tawet AT ufd 0 ¥ 4 3 & 978 § T IMeE-11 5 F 9 F & 1S F| 37 IMeget F U HaW H Tger 3 AfF AR are F wwer
HEAT EIRT ST 31T §, 387607 & fAIw C I 55,69 Seafe; 3% D & 59,68 S gaRT Wafid foam S aerdr 8

Identify the set for the word LAPSE.

LAPSE 2isg; & foIT T I ugare &Y|
Matrix I Matrix II
(3flegg - 1) (3o - 11)
o123 |4 E |6 |T7T |8 |9
S| M|A R |T B|lP|E |R|TI|L
0
1| M|A|R|T)|S8 6 |E|R|I|L
2| A|R|T |8 | M T|R|I L | P
3|R|T |8 |M|A 8 I |L |P|E
4 |T |8 |M|A |R 9 |L|PF |E | R
Options:

a) 86, 02, 55, 14, 97

b) 86, 57, 00, 41, 97

c) 31, 02, 00, 96, 42

d) 31, 57, 55, 41, 42

Correct Answer: 86, 02, 55, 14, 97
Candidate Answer: 86, 02, 55, 14, 97

Question 23. Ruhi travels 10 km towards north
km. How far is she from the starting point?

FET 10 Thell Seat 3 3R Terelr § 3R v a1y a3
fareeT gT &2
Options:
a) 5 km

5 forelr

b) 10 km
10 el

c) 15 km
15 e

d) 20 km
20 fRar

Correct Answer: 15 km
15 fRar

Candidate Answer: 15 km
15 foratr

en again turns right and covers another 5 km and turns right and travels another 4

T e Fgzeht 5 Toral o g1 a2 el & 3R Erdt 3 75T 4 Tohaly Trercht B @8 IR g &

Question 24. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options.

rrfaf@d v F v siwer & 718 ¢, fores v ar e & 31w deand/at ged §| fw i et # & w8 seav g

16, 33, 53, 76, 102, ?
Options:

a) 131

b) 135

c) 230

d) 231

Correct Answer: 131
Candidate Answer: 131



Question 25. Which of the following Venn diagrams represents the information given below?

T & 978 I T fRE O 3TN SN WG faRaT S|

Anteater, Mammals, Tiger

Tér @t aTelT, TATERY, aTer

Options:
a)
= 'H\\ 'd T
\ [
ot ,f\____./]
./ h \-'l
n\\\_’-/_.
b)

OO

<)

Correct Answer:

ol®

Candidate Answer:

OO

Question 26. Below some statements are giv.
from commonly known facts. You have to d

A Fo Y feu 1T g, fows a1 o
forshut & & si-ar sy w=t 1

s. You have to consider the statements to be true even if they seem to be at variance
conclusions, if any, follow from the given statements.

¥ Y TET AT & TR a1g Ig Tafafed aza & feeT i o gi| 3muenr vy o & 6w amw

Statements:
EXICH

Some spoons are cups.
TS TFHT FY gl

Some cups are bottles.
TS HY i &

All bottles are mugs.

w3t SYetel 7T B

Conclusions:

IGACAH

I: Some mugs are cups.

TS AT HY g

I1. Some cups are bottles.

TG T i 8

III. Some spoons are mugs.
FO T HIT gl

Options:

a) Either I or II and III follows
137 11 3R 111 & & I T 3TeR0T el §
b) Only II follows

et 11 38R0 Tl §



c) Only I and II follows

Faer 1 3R 11 3TeRoT et §

d) All follow

T 3reTERoT AN

Correct Answer: Only I and II follows
&ae 1 3 11 30T Xt §

Candidate Answer: Only I and II follows
aharel [ 3T 1T 37Taor el §

Question 27. Find out the alternative figure which contains the given figure.

e 3ot & & 3% 3eHfar B Tgar RS fFra gee 3THfa Fd &

[\

Options:
a)
b)

<)

b

DI

Correct Answer:

DIG

Candidate Answer:
DIG

Question 28. Identify the figure that completes the pattern.
et Y G T T 3T T ggeet Y|




Options:
a)

Correct Answer:

5

Candidate Answer:

7

Question 29. Observe the series and figure out the pattern used to form it. What will be the 3" term of the series?
S ST & TETTT B 3R STHT Yot IaT oo | ST STl T TRRT I FT §1amT?

1,5,_.?_,22,35
Options:

a) 1l

b) 14

c) 10

d) 12

Correct Answer: 12
Candidate Answer: 12

Question 30. Select the odd words/numbers/letters/pairs from the given alternatives.

e a1e faehedt 7 & fawer eral/aeansil/ menl/ g7+ #r 9|



Options:

a) UvX

b) BCD

c) HIJ

d) PQR

Correct Answer: UVX
Candidate Answer: UVX

Question 31. Arrange the following words as per order in the dictionary.

TF=ifeReT areal hl 3Tl Areaehier & JITHR e i H cqaferd |

1. Application

I1. Apoapses

III. Apophis

1V. Appeared

Options:

a)l, I, III, IV

b) II, III, IV, I

oIV, IIL, 11, I

d) I11, IV, I, I

Correct Answer: II, III, IV, I
Candidate Answer: II, III, IV, I

Question 32. In a sports academy, all cricketers are represented by a circle, football players by a triangle and tennis players by a square. Who is most represented in
the academy as shown in the figure?

T Wl JereHT 7 Tl frehel T 9, Pealel fentsar st Bget 3R 2fore Rarenfsat & aet gamr vl foma
gl

WA

Options:

a) Cricketers

[Ezoay

b) Football Players

el f@ersr

c) Cricketers with tennis skills

T &TACT3T aTer foRahe

d) Football players with cricket skills
Geatel TR fhehe T &TaaT & |y

Correct Answer: Football players with cricket skills
Gealel TEes! e T &TAdT & |
Candidate Answer: Cricketers

Tohehex

Question 33. If '+'is 'x', '-"is '+', X' is '+' and '+ is '-', then answer the following questions based on this information.
9-4+2+16x2

IR K, R, X AR s - §, AT 58 I & TUR W fAwifRd 99T & 3eax |
9-4+2+16x2

Options:

a)71

b) 62

c)9

d) -24

Correct Answer: 9

Candidate Answer: 9

Question 34. Identify the figure that completes the pattern.
Aet ol QT FeT aTelr ATpfer Y gt |



G

Options:
a)

b

a |~ o

<)

S

d)

5

Correct Answer:

5

Candidate Answer:

(=}

Question 35. Select the odd words/numbers/letters/pairs from the given alternatives.
U aTv fenel 7 & fawe ereel/GEaT31/ 376R/Z7# @1 giav|

Options:

a) CX

b) EV

c) R

d) LO

Correct Answer: JR

Candidate Answer: JR

Question 36. Select the odd words/numbers/letters/pairs from the given alternatives.
T ITv fehedt 3 & fawat reel/aeansi/ 3R/ g7 # giav|

Options:

a) Bajra



SToRT

b) Mustard
HEr

c) Rice
araer

d) Wheat

R

Correct Answer: Mustard

parec)

Candidate Answer: Mustard
awar

Question 37. Select the related letters/words/numbers from the given alternatives.

Teu a1V faehedl 7 & Toaieticd R/ el/TEansit i 9w

Pilgrims : Caravan :: Rioters : ?
e e : Fifher 1 EaS:?
Options:

a) Brood

g

b) Gang

e

c) Mob

s

d) Troupe

Heelr

Correct Answer: Gang
R

Candidate Answer: Gang

e

Options:
a)E

b) B

c)A

d)C

Correct Answer: B

Candidate Answer: B

Question 38. Five girls are sitting in a row. A is on the right of B, E is on the left of \S\ﬂj‘ev>
5 osferar ve dffa A ST E|A, B F aRIT 3R E, E, B aRff 3§, eg CF et A g

Question 39. Select the odd words/numbers/letters/pairs alternatives.

Teu 1w faenedl 7 & fawer ereel/aean3il) 3eRi/eal &I G|
Options:

a) 160

b) 240

c) 360

d) 480

Correct Answer: 160

Candidate Answer: 360

O
®

ght of C. If A is on the left of D, who is sitting in the middle?
g T A HT o d?

Question 40. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options.

TrATATEe Tea & Toh si@elr &1 918 8, Tws U a1 Ueh & 31fereh Feand/aol qed | o 713 faeheut # & #EY 3ca¥ giav|

PQR_, PQ_S, P_RS, _QRS
Options:

a) SRQP

b) SQRP

c) SRPQ

d) RSPQ

Correct Answer: SRQP
Candidate Answer: SRQP

Question 41. For the Venn diagram given below, which of the following conclusion(s)is/are true?

A Rw 21w 3 3N 8 Fe=tifeha 7 & sl @/ sy wér 873



Soldiers

Lieutenant

Captain

Major

B AP 3 — o o,

I. Some Captains are painters.
TS Faw Ul 8

II. Some Lieutenants are painters.
F5 Affesie TeT &

III. All Majors are soldiers.

T AR B E

1V. All Captains are soldiers.
T seare dfae g

V. All soldiers are painters.

T Ao T ¥

Options:

a) Only I and V follows

el [ 3RV 31TER0T T §

b) Only I, III and IV follows
e 1,11 3R IV 30T et §
c) Only II, IV and V follows
el 11,1V 3R V 3T8T0T 2
d) Only III and 1V follows

e 111 A IV 31707 e §

Correct Answer: Only III and IV follows
el 111 3 IV 3 ER0T et §

Candidate Answer: Only III and IV follows
el 111 3R IV 30T X §

Question 42. Select the related letters/words/numbers from the given alternatives.

Rw 1w fasred! # & wrafeeea R/ ersel/deansii el 2|

169:12::25:7?
Options:

a)2

b) 3

c)5

d) 4

Correct Answer: 4
Candidate Answer: 4

Question 43. Anushka starts from point L and walks 10m towards north. She then turns to her right and walks 5m. Again she turns to her left and walks 10m and then
she takes one more left turn of 5m up to the point M. How far is she from her starting point L?

3e7SehT L g & a7 Y 10 A, I 1 I Teichy & Y g ard #{gehT 5 3. Teicly & o R oTC #5107, Teichl & AR Toh I b o1 30 H{5hT 5 . Teiet M
g o qgerell &| 78 TR g L & ehctelt g7 87

Options:

a)5m

5

b) 20 m

207

c)25m

257



d)30m
30 A

Correct Answer: 20 m
20 #r

Candidate Answer: 20 m
20 #r

Question 44. Market segmentation is:

IR faser= &1 719 &:

Options:

a) Group of Sales Persons

[EETIEIEIR:E

b) Dividing target groups as per their needs
ATEIT THGT T SoTehl AT oh ITUR T TSI et
c) Market Division

IR fFHST=

d) Market Space

TR [A&ER

Correct Answer: Market Division
TEIR STt

Candidate Answer: Dividing target groups as per their needs

ITETCT THT T SeTehl TALThl31 & TR I TFSAITAT Sder
L

Question 45. In which of the following fields, India's performance lags most notably according to the 2014 EPL re

2014 $h3m$ ROE & 378K, et 7 & g a1 &, 9 &7 dedier fIAy ¥ & Fod e @1 ) '

Options:
a) Forests

ae
b) Water resources
STt HETETT
c) Fisheries
ASel qTelel
d) Protection of human health from environmental harm
THTERT & ehdleT & HIeTd TR ST L&l

Correct Answer: Water resources

SToT TATerT

Candidate Answer: Protection of human h
THTEROT & TRl | AT ERY T gLam

Question 46. 1.J. Thomson's proposed model of action i S model.
.57 I G@RT AT Hisel 3T TarRle @l SN 9Y .. FETACTE |
Options:

a) Cream and cake

A 3R F

b) Plum and pudding

goH 3T gfsa

c) Plum and cake

JoH 3R T

d) Cream and pudding

e I g

Correct Answer: Plum and pudding

et 3R g

Candidate Answer: Plum and pudding

goH 3T gfsar

Question 47. The cause of Heart attack is:
el & &N T FRUT 1T &

Options:

a) bacteria

CEaire

b) virus

arIy

c) lack of blood supply to the heart



FeH ok TRl St T el
d) impairment of heart's working due to unknown reason

AT FROT H §GT & F At 7 &1

Correct Answer: lack of blood supply to the heart
TCT e T e 1 ol

Candidate Answer: lack of blood supply to the heart
TCT A T e 1 Falr

Question 48. The Panchsheel agreement was between India and:
Fareier FHSNT HT A ek ey g3 am?

Options:

a) Russia

*q

b) China

ot

c) Brazil

Cieic

d) Sri Lanka

AreieRT

Correct Answer: China

Gict

Candidate Answer: China

oy

Question 49. The term of member of Rajya Sabha is
TTHHT & TG T FRHI &
Options:

a) Five years

g a¥

b) Six years

oE ¥

c) The same as that of Lok Sabha
olveh T & ATHTT

d) Two years

aray

Correct Answer: Six years
oE av
Candidate Answer: Six years

og a¥

Question 50. Which of the following does the Nucleus of an atom consist of?
o1 & @ T A1 Tk ITA] & AR 7 LT gl 67

Options:

a) Protons and neutrons

seteT 3R =gEte

b) Protons and electrons

oete 3R s

c) Electrons

ERCo)

d) Protons

irc

Correct Answer: Protons and neutrons
Wi 3R =g
Candidate Answer: Protons and neutrons

el 3 gl

Question 51. Communication satellites are used to:
TR 39I8T T w31 e e fmar siar 872
Options:

a) To transmit communication signals

HAR Fehcll 1 FATRT el & foiw

b) To receive and redirect communication signals

FEAR Hhell &1 I et T IoT: folfése aat & fow



c) To only receive communication signal

e FAR Fhdl HT ITCd A & fow

d) To provide information of national sources only

et TSERT et T YEATE T e 5 I

Correct Answer: To transmit communication signals

FAR Fehcll 1 FATRT el & foiw

Candidate Answer: To receive and redirect communication signals

AR Fhall &1 9o el T Gol: Afése ot & faw

Question 52. Which of the following is known as animal starch?

oot & @ o8 9] T & &9 & ST ST 87
Options:

a) glycogen

TegehIoTel

b) cellulose

Bepeltst

c) zjlucose

Tophist

d) chitin

Frsfea

Correct Answer: glycogen
TASHISTT

Candidate Answer: chitin

FrSfes

Question 53. The parts of human body affected by Pyria are:
JrIRET AT RR & HleT T 37T I THITIT FXAT 82
Options:

a) eyes

kKlircy

b) small intestine
BIEY 37T

c) teeth and gums
are 3R T

d) large intestine
3 377

Correct Answer: teeth and gums
aid 3R A
Candidate Answer: teeth and gums

aid 3N A

Question 54. Kinetics is the study of:

FISATerT foh &7 eI 872

Options:

a) The rate of chemical reaction

Tt gfafrar #rex

b) How fast the reactions go

TordTett aoil & Tfafhar aidT &

c) The mechanisms and paths of the molecules take in joining from one reactant to products
T 31HHRE & el 1 AT ot & FAT o= T 30p3it b1 #met
d) All of these are correct

wmh acT §

Correct Answer: All of these are correct

Tl T §

Candidate Answer: How fast the reactions go

[ERCIREIRRICIE R IERIE

Question 55. A light year is a unit of:

TTRT I TRaehr SIS 8?2
Options:

a) Time

qH T

b) Distance in Space



e ot &
c) Length of astronomical distances

TN &Y T TS

d) Distance travelled by light

SRR G@RT IR T 316 gl

Correct Answer: Length of astronomical distances
TR g i S

Candidate Answer: Distance travelled by light
STRIRT GENT IR &Y 1 g8

Question 56. Who was the first Governor General of free India?
TIAT AR & JUH TG oAl dleT A?
Options:

a) Lord Mountbatten

oS F3eaesT

b) V. V. Giri

CICIREIRY

c) C. Rajagopalachari

LI LI IGIN

d) Lord Dalhousie

CIERCHE

Correct Answer: C. Rajagopalachari

. TSTNITeTary

Candidate Answer: V. V. Giri
drdr AR

Question 57. The 'Red Data Book' is the documentation of endangered rare species of:
Y8 37eT ' FREeT ey Torferal & getet aeat 87

Options:

a) Flora

geaeafa

b) Fauna

Siaeted

c) Other living organisms
3=y Shfad shar

d) All of these are correct

T aca g

Correct Answer: All of these are correct
v aca g

Candidate Answer: All of these are correct

T acT g

Question 58. Which of the following statement is false?
ToIF=T 7 ¥ Sl A1 HYUA 1T 8?7

Options:

a) Polystyrene was discovered in 1839 by Edward Simon
1839 # USAS WBH o UlTorEeraslet Sl @it & oY

b) It is used for making plastics and CD cases

ST AT Telliees 3R A sl & fow fhar smar g
c) It is not bio-degradable

¥ yTHTas A% § weAd TG §

d) None of these

T 1T faesreat & & A 78T

Correct Answer: None of these

T 17 fyhent F & FS AT

Candidate Answer: None of these

@ T faemedt 3 8 FIs 67|

Question 59. Which term is used in economics for the market value of all goods and services in one year by labour and properly supplied by the residents of the
country?

Jrfeaa e 3 HHT ZaRT veh I # TN aE3T IR Va3t o IR Hed & AT 3R e & foAanieat garT st mgfet & fore et 7 & fora eree; 1 92T fopam e 82
Options:

a) GDP

b) GPN



c) OMP
d) GNP

Correct Answer: GDP
Candidate Answer: GNP

Question 60. The Dadasaheb Phalke Award has recently been awarded to:
e Hgs Wloeh GRERR & gTel &1 3 fohdy FeAtlerer feham aram:
Options:

a) Amitabh Bachchan

ifFAaTeT STt

b) Shashi Kapoor

IR

¢) Shammi Kapoor

A YT

d) Manoj Kumar

HeAlST FAR

Correct Answer: Shashi Kapoor

IR

Candidate Answer: Shashi Kapoor

SIRIER

Question 61. Name the physicist awarded Nobel prize for Quantum Theory in 1918.
1918 # forg siifcten d=Tifeien ol FaicH LART & T el IEHR F FFATeIT fohar arar or?
Options:

a) Max Puluak
A oo

b) Niels Bohr
feew digw

c) Max Planck
Herd celledh
d) Burry

it

Correct Answer: Max Planck

HFT coleh

Candidate Answer: Max Planck

AT waeh

Question 62. The Prime Minister of India is
AR FT TeTAH:

Options:

a) Elected by the Lok Sabha

i T EaRT AT frar sar ¥

b) Elected by the Parliament

e g e o sar &

c) Appointed by the President

gy gaRT forgeret faam ST §

d) Nominated by the party who has majority in Lok Sabha
AHEHT # SEHAT T GIRT ATHI Rl

Correct Answer: Appointed by the President

g garT g famam ST §

Candidate Answer: Elected by the Lok Sabha

Sl T EaRT AT fRar sar ¥

Question 63. What are Lipids?

Rt FT§?

Options:

a) Lipids are monosaccharides

s AEETEs &

b) Lipids do not provide energy to cells
iz AR F S TeTT 6T A &

c) Fruits are a good source of lipids

el fafis & S AT §

d) Cholesterol and trans fatty acids are types of Lipids
Froregier 3% g her vfas fafis & gar §

Correct Answer: Cholesterol and trans fatty acids are types of Lipids



Freregier 3T g Her vfis fafts & yeR &
Candidate Answer: Lipids are monosaccharides

s Aeess §

Question 64. The cleanest Indian Railway station is:
I A6 HARAT Jold TR ShisT T §7?
Options:

a) Mumbai

S

b) Chennai

Aeels

c) Bengaluru

‘ Pl

d) Surat

Rk

Correct Answer: Surat
E3kG)

Candidate Answer: Surat
R3S

LN

Question 65. The token currency using copper and brass coins was modelled after which country's example by Muhammed-bin-Tuglag?
HEFHC- TA-ITerh o TR ST T 3aTE0T A il 3R dever & FheFent T TlaT o ekt HgT SreTaray 24r?
Options:

a) Japan

STYTeT

b) Greece

c) China

ot

d) Russia

4

Correct Answer: China
ot

Candidate Answer: Greece

pic)

Question 66. The World Energy Conservation
faeg ST TETOT e e AT ST §72
Options:

a) 1st June

1551

b) 22nd March

22 A

c) 14th December

14 fGaFR

d) 23rd April

23 e

Correct Answer: 14th December
14 fGaF]

Candidate Answer: 14th December
14 fgaFsR

Question 67. What is MS - DOS?
THUH-319 &7 §?

Options:

a) Multipurpose System - Digital Offline Sign
AU RAeeH- BfSce 3iTharsT A
b) Microsoft Disk Operating System
ArgIETe 3R ATaRfer fwen

¢) Multi System - Disk Operating System
A RTeH- 3% TR Reen

d) Microchip Sign Digital System
AT wee fBforee e

Correct Answer: Microsoft Disk Operating System



ArgehIETe 3R JTaRfer fwen
Candidate Answer: Microsoft Disk Operating System
ATSHIAFE 3T TR T Reea

Question 68. India's first geostationary experimental telecommunications satellite is:
I T Ul - JANNcH qIHAN 3% Hiel AT 8t

Options:

a) INSAT

b) VSLV-3

c) SLV-3

d) APPLE

Correct Answer: APPLE

Candidate Answer: APPLE

Question 69. Who founded the City of Delhi?
el 2TEX T TUTIAT fohget Fh?
Options:

a) Khilji

Eewstr

b) Lodhi

aefr

c) Tamara

JART

d) Tughlaq

JaTelh

-]
Correct Answer: Khilji

el

Candidate Answer: Tughlaq
GEIGED

>

Question 70. Which Turkish ruler invaded India 14 times between 1000 and 102
T el ek =1 1R # 1000 31K 1026 S8 & afYer 14 IR 3TehACT AT
Options:

a) Mahamud of Ghazni

HEHE, TToteAdl

b) Mauhamed Tughlaq

HEFHAC, JaTeleh \

c) Changez Khan \

IS @t

d) Mahmood Ghalib

EiRECRUISE

Correct Answer: Mahamud of Ghazni
HEHG Tt

Candidate Answer: Mahamud of Ghazni
FGHE ITgtetal

Question 71. What is the area of dark (coloured) sector for the figure given below?

v &y areft 3repfey # ame (T arel) Geas Akl AT P



4 cm

120°

Options:

a) 8.38

b) 25.28

c) 16.75

d) 18.56

Correct Answer: 16.75

Candidate Answer: 8.38

Question 72. The following pie chart shows the export of automobiles of India to the 10 countries given below in
export of India. Observe the chart given below and answer the following question:

T T 37T 91§ I1E A AR & g@RT 2014 F 10 RMF A AT 7R 910 JiOARTS e i axffam ram g1 10 SRif o 3
¢ R R Y 3R Heafaf@a uea &1 3cav &

0 countries imported 47.8% of the total

I 47.8 g2 3mand o | =i fegw st

3 Bangladesh
e MRS $592.1 million,
United 1.2 billion, 4108 Colombia

Kingdom B.40%
56374 millien,
4.40%

.8 millicn,

UAE
5433.6
million, 3%

Turkey $580.4
million, 4%
5riLanka
5556.9 million,
4.10%

What is the average of imports of the countries UAE, Bangladesh, and Sri Lanka?
U, SiveneRr 3R e F1 AT AT B &2

Options:

a) 580.5 million
580.5 fAforeT
b) 618.6 million
618.6 fAfoge
c) 473.7 million
473.7 fAafoa=
d) 540.8 million
540.8 faferer

Correct Answer: 540.8 million
540.8 fAferreT

Candidate Answer: 540.8 million
540.8 faferrst

Question 73.



a’+ b4+ c?

If a + b + c =0 then the value of is
abtbctea
a’+ b+ e?
= - 2

A a+b+c=0T ———— BTAM oI g
Options:
a)2
b) -2
c)0
d) 4
Correct Answer: -2
Candidate Answer: 2
Question 74.

e 8ab CIEE, x+4a+x+4b
If a+b thenthe valueof X—%4a  x—4b s
Lab x+4a x+4b
A= {a=b),

gfg  atbh ar x—4a x-4b HOEFaT 6
Options:
a0
b) 1
c)2
d) 4

Correct Answer: 2
Candidate Answer: 2

Question 75. The average salary of all the associates in a team is Rs. 16000. The average salaryof 7 se;}r associates is Rs. 24000 and the average salary of the
rest is Rs. 12000. How many associates work in that team?

Th ol o T8l TeEaT 1 3 ad+T Rs. 16000 &1 7 aR™S Texdt &t 3iHad adeT Rs. 24000
&
Options:
a) 21

b) 22
c)23

d) 24

{ua’é’ et 7 3T A9 Rs. 12000 | 39 ot & Rrcie TeeT 18

Correct Answer: 21
Candidate Answer: 21

Question 76. The sides of a rectangle with dimension
7 QAT IT 11 B AT dTel I T $MHT Rl SilS HE 1L
Options:

a) 85.75 cm3

85.75 Q3

b) 86.92 cm3

86.92 Q3

c) 54.25 cm3

54.25 Y3

d) 42.875 cm3

42.875 d#°

Correct Answer: 85.75 cm3
85.75 Q3

Candidate Answer: 42.875 cm3
42.875 d#°

joined to form a cylinder with height 11 cm. What is the volume of this cylinder?
FATAT ST & | Sl T 3T FIT 872

Question 77. A number when divided by 44, gives 432 as quotient and 0 as remainder. What will be the remainder when dividing the same number by 31?
ST Ueh HEAT 1 44 T AT F&AT ST & Y ATl 432 3Tl § 3 A e 317 81 A 38 FEar 1 31 8 A7 f&ar 1w ar A9 27 s<em?

Options:

a)3

b) 4

c)5

d)6

Correct Answer: 5

Candidate Answer: 5



Question 78. The perimeter of a triangle is 67 cm. The first side is twice the length of the second side. The third side is 11 cm more than the second side. Find the
length of the shortest side of the triangle.

e st B ARTAY 67 Ao &1 Teeh ST B ol GEdY 1o & GITeA &1 Y sioT Gy SToT A 11 Aot 31TeR &1 Faoger 1 Ty DY sgoT Y wioS v &7
Options:

a)12cm

12 9

b) 14 cm

14 37

c)17cm

17 3%

d) 25cm

25 9

Correct Answer: 14 cm
14§

Candidate Answer: 14 cm
14 33

Question 79. Which is the largest among the numbers V5, 3v7, 4V13
V5, 3V7, 4V13 51 T3 H F Tad T8 TEIT HiT A §?

Options:

a) V5

b) 3v7

c) 413

d) All are equal

sl TAA §

Correct Answer: V5

Candidate Answer: 4v/13

Question 80. Observe the graph below and answer the following question

A few a1v YRy X faaR A 3k Aeafaf@a uea #r3cax i

Fuel prices over last 10 years

@ Avg. Price Petrol (Rs.) @ Avg. Price Diesel

T

46.76 46.41 4865
40.84 43.

36.49

38
29.77 33.65 3285 34.04 3776

24,35

2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014
Jan Jan Jan Jan Jan Jan Jan Jan Jan Jan Jan

What is the average of diesel prices over the years 2006-2012?
2006-2012 % &I Stater 1 3 Hoxr foncterr 82

Options:
a) 36.47
b) 37.34
c) 35.67
d) 38.77

Correct Answer: 36.47
Candidate Answer: 35.67



Question 81.

Lol il P——
Ifat+bh+c=mand=-+ ;+ ==0 thenaverageofa®, b=, c%is
a c

qﬁa+b+c=m\?ﬁ?i+§+%=0 ar a?, b?, c? ﬁaﬂﬂﬁ'ﬁﬁﬂ'{%’?

Options:

a) m?

b)m2/3

com?/9

d) m? /27

Correct Answer: m? / 3

Candidate Answer: m?

Question 82. The price of an edible oil is increased by 25%. To maintain the budget, Sushma reduces the consumption of this oil by 20%. The increase in expenditure
due to this edible oil is:

e de & #Fed 7 25 gfad g gl §1 319a Io7e hl S0 I@= & fT GO 50 e & U 31 20 G 1 hall AT & | WieZ el & HROT o7 & fohetel Tiaiere
af gt

Options:

a)0

b) 1

c)2

d)3

Correct Answer: 0
Candidate Answer: 0

o

Question 83. A man cycles at the speed of 8km/hr and reaches office at 11 am and when he cycles at thespeed of 12km/hr he reaches office at 9 am. At what speed
should he cycle so that he reaches his office at 10 am?

Wwﬁasmmﬁﬁﬂﬁﬁmwmq@ﬁﬁnaﬁﬁq@m%mmﬁl " ﬁﬁﬂ%ﬁaﬁﬁmm%ﬁa‘s’mq@%ﬁ9aﬁ
T ST §1 3R 3 qaie= 10 Sof Frfier qgoeT ¢ ot 30 b a1fy & angfeber e gam?

(

Options: »
a) 9.6 km/hr

9.6 forar gfcr ger

b) 10 km/hr

10 fratr afey wer

c) 11.2 km/hr

11.2 frer gfey ger

d) Cannot be determined

R € T ST FeheT B

Correct Answer: 9.6 km/hr

9.6 fetr wfey wer

Candidate Answer: Cannot be determined

eI &7 forar o1 GeraT B

Question 84. Sarthak completed a marathon in 4 hours and 35 minutes. The marathon consisted of a 10 km run followed by 20 km cycle ride and the remaining
distance again a run. He ran the first stage at 6 km/hr and then cycled at 16 km/hr. How much distance did Sarthak cover in total, if his speed in the last run was just
half that of his first run?

ardeh 4 6 3R 35 fAeTe F ven Ayt Sty qf FaT §1 38 als & 10 e, i gt ety &t 31k 38 we 20 R, & g wsfne Teret 3R AW gt gt dls R gl el 1
3T Ugel TROT H 6 forely ufa e 1 a1fd & Sz semeft 3R 30 a1 16 e, faee H 1fa T asfore gorar §1 afe 3ifaw &z & aris & a1fa ugelr iz Hr afa & medr o
ar 3w For el g o

Options:

a) 5 kms

5 fRer

b) 35 kms

35 foRer

c) 40 kms

40 fRar

d) 45 kms

45 e

Correct Answer: 35 kms
35 fRer

Candidate Answer: 35 kms
35 foretr

Question 85. A certain sum doubles in 7 years at simple interest. The same sum under the same interest rate will become 4 times in how many years.

HIUNOT 57T & A S TR 7 T 7 gt 8 Sl 1 3=t & TR 380 sa1e7 & 0¥ fowctor it o =R 776t @ seate



Options:

a) 14

b) 28

c)21

d) 10

Correct Answer: 21
Candidate Answer: 21

Question 86. The sides of a right triangle ABC are a, b and ¢, where c is the hypotenuse. What will be the radius of the in circle of this triangle?
FHHIOT AT ABC 1 =TT a, b 3R ¢ §, 5767 C 0T 81 50 Fefst & 37T: goot &1 B fraeh gefr?

Options:

a) (a+b+c)/2

b) (a+b-c)/2

c) (b+c-a)/2

d) (a+c-b)/2

Correct Answer: (a+b-c)/2

Candidate Answer: (a+b-c)/2

Question 87. If a commission at the rate of 10% is given to a bookseller on the marked price of a book by the publisher, the publisher gains 20%. If the commission
is increased to 15%, then the gain percent would be:

TS TR GART T Tashell T Teh TEcAeh o 3Tt 376 TX 10 TTTerd ol feam S &, o wenrers i 20 Sferd aret giar §1 IS FoRiet & 15 Tfcrerd Sem S &
al feheteT Tfcreret 1 e gram?

Options:

a) 16%%

b) 13%%

c) 15%%

d) 1212%

Correct Answer: 13/4%
Candidate Answer: 134%

export of India. Observe the chart given below and answer the following questio
A T 71T 91 A1E 7 R F IRT 2014 # 10 it 7 AaTa R av sdaarges @
IE R AR FY 3R Fe=Afaf@d 9ot &1 3caR &-

. Bangladesh
Ynitasthtes 5592.1 million,

United 12 billion, N
Kingdom 8.40%
5637 4 million,
4.40%

UAE
$433.6
million, 3%

Turkey $580.4

million, 3.80%

million, 4%
Srilanka outh Africa
$586.9 milllon, SBEE.E miliion,
4.10% 5.10%

What is the total export value of automobiles?
TS o forTeT 7 ool e fohciat &2
Options:

a) 14.44 billion

14.44 fofoet

b) 12.6 billion

12.6 faforaT

c) 9.7 billion

9.7 faforaer

d) Data Insufficient

3RS AT B

Correct Answer: 14.44 billion

14.44 et



Candidate Answer: Data Insufficient
33 3T gl

Question 89.

Ifsing = %and @ is acute, what is the value of /(cot & + tan 8)?
e sin6 = = RO FABI Gl /(cotl + tan ) Pl HH b g 2

Options:

a)2/+v5

b) 13/ 25

c)-2/5

d) Can't be determined
AR € fmar ST G &1

Correct Answer: Can't be determined

TR €T T ST Tl B
Candidate Answer: 13/ 25

Question 90. The average of five numbers is 7. If three new numbers would be added, then the new average comes out to be 8.5. What is the average of those three
new numbers?

T HEIT3T 1 3T 7 §1 T T A TEae S S Jt 77T 3 8.5 8 ST 81 3 el o7 &3 1 3ad e 87

Options:

a)9

b) 10.5

c) 11

~

d) 11.5
Correct Answer: 11
Candidate Answer: 11 = ot

Question 91. There is a ratio of 5: 4 between two numbers. If 40 % of the first number is 12pthel \‘kha)ould be 50 % of the second number?
& FEATHT T IHTIT 5:4 F1 A Tgel Fear 7 40 yfaerd 12 &, a q@RY §&aT &1 50, Trd 21 g2

Options:

a) 12 "
b) 24

c) 18

d) Data Inadequate
3RS 3IATTT §
Correct Answer: 12
Candidate Answer: 12

Question 92. A sugar solution of 3 litre contain 60%
T irex delr & °ier 3 60 wfaerd A= &1 391 S8 diel
Options:

a) 30

b) 45

c) 50

d) 60

Correct Answer: 45

Candidate Answer: 45

ater is added to this solution. Then the percentage of sugar in the new solution is:

ST & aY 7T 't & el &1 wfaera fhaer gem?

Question 93. The following pie chart shows the export of automobiles of India to the 10 countries given below in 2014. The 10 countries imported 47.8% of the total
export of India. Observe the chart given below and answer the following question:

A1 T 210 U1g A & HR & G@RT 2014 F 10 =i 7 Trdier 6 a1w sifraamses o a@iam aram 1 10 22t & IR o ot vy 7 47.8 wfcrerd 3mare foamar | o7 fw arw
e R AR Y 3R A=faf@a wee & 3cav -



: Bangladesh
Unitpdapatas 5592.1 million,
United 1.2 billion, 4.10% Colombia
Kingdom  B.40% 3million,
$637.4million,
4.40%

UAE
$433.6
million, 3%

Nigeria 5546.8

Turkey 5580.4 28
million, 4% million, 3.80%
5riLanka outh Africa
55569 milllon, SBEE.E million,
4.10% 5.10%

Which country is the fifth largest importer of Automobiles from India?
el T &2 HRA & HIHATS T Iieral Gl T5T HTATcleh 327 &2
Options:

a) United Kingdom

TSRS fofarsH

b) Sri Lanka

Eiccal

c) Bangladesh

TR

d) Turkey

q&f

9
Correct Answer: Sri Lanka

reler
Candidate Answer: Sri Lanka
Eiccal

Question 94. Observe the graph below and answer the following question

A few a1v YR ) faaR A 3k Reafaf@a uea #r3caxw i

@ Avq. Price Petrol (Rs.)

68.97 72.68 73.70

48.65
46.76 46,
40.84 = 43.37

36.49
43.47

3851 40.01

29.77 33.65 33285 34.04 3276

24.35

2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014
Jan Jan Jan Jan Jan Jan Jan Jan Jan Jan Jan

In which year the difference between average prices of petrol and Diesel is minimum?
e ay 3 9 3R Siote & 3ea 7 & O 3R FgeaA 82

Options:

a) 2005

b) 2009

c) 2014

d) 2004

Correct Answer: 2014

Candidate Answer: 2014



Question 95. The sum of the length, breadth and depth of a cuboid is 19 cm and its diagonal is 5v/5 cm. Its surface area is -
T TS T ST <lsts R aTers & AT 19 [l § 3R swe ot 5v/5 Ao €1 e e vl 8-
Options:

a) 125 cm?

125 32

b) 236 cm?

236 T

c) 95v5 cm?

95v/5 T2

d) 361 cm?

361 92

Correct Answer: 236 cm?

236 Q2

Candidate Answer: 236 cm?
236 QA2

Question 96. The value of (2a+b)? - (2a-b)? is:
(2a+b)? - (2a-b)? T T e &7

Options:

a) 8ab

b) -8ab

c) 8aZ + 2b2

d) 8a2 - 2b?

Correct Answer: 8ab PR
Candidate Answer: 8ab ( )
o0 v

Question 97. A money lender claims to lend money at the rate of 10% per annum simple interes Howe\\/ Y he takes the interest in advance when he lends a sum for
one year. At what interest rate does he lend the money actually?

Teh HEHN 10qﬁremqﬁa&wmaﬁra¢@m3€mm%laaﬁ,aﬁagwa&?ﬁm SUFAAT &, A I A TT A a1 E | IFdd H ag fhasl saT X
IR & YR T 8?2 ,

Options:
a) 10%
b)

105 %
g
) 11%
d)
1
11; b

of

Correct Answer:
1
11; %
Candidate Answer:
1
11; %

Question 98. If tan 8; = 1, Sin 8, = 1/v2, then the value of sin(8; + 8,) equal to -
afg tan 8, = 1, Sin 8, = 1/v2, AT sin(8; + 6;) T HIeT BT -

Options:

a)-1

b) 0

ol

d) 1/2

Correct Answer: 1

Candidate Answer: 1

Question 99. A and B work together to complete the rest of a job in 7 days. However, 37/100 of the job was already done. Also, the work done by A in 5 days is equal
to the work done by B in 4 days. How many days would be required by the fastest worker to complete the entire work?

A R B AY o A1 feet F qr et & FAT Uah A wrd A ¥ glelifeh S 1 37/100 1T Tget 1 O &Y bt AT | A gar 5 Rt  fowar ara v B gawr 4 e A
T 1T 1 & SR §1 TOT F U A & TT T ool H L1 aTel HIAAMN T hetel &7 oer?

Options:

a) 20

b) 25

c) 30

d) 10

Correct Answer: 20

Candidate Answer: 20



Question 100. For Rs. 25,500, a furniture shop sells 3 computer tables and 5 chairs OR 2 computer tables and 9 chairs. If one wants to buy a set of only 1 computer
table and 1 chair, how much does he need to pay?

Teh WiefTe &Y GahTel Rs. 25500 # 3 HTgeX 2ol 3R uier T a7 & deger 2ol 3R =it FiEai Jerch &1 3 16 i v degex 2ol 3R veh il Tliear agar g, o
3 TohcaT $ITCATeT ShetT g1amT?

Options:

a) Rs. 1,500

b) Rs. 5,100

c) Rs. 6,000

d) Rs. 7,500

Correct Answer: Rs. 7,500

Candidate Answer: Rs. 7,500

Question 101. The radius of a wheel is 25 cm. How many rounds it will take to complete 11 km.
o afgar # frsar 25 et g1 11 el i g off ot & T & et =e g gem?

Options:

a) 5000

b) 6000

c) 7000

d) 4000

Correct Answer: 7000

Candidate Answer: 7000

mber. What is the sum of four numbers?

&

Question 102. The LCM of four consecutive numbers is 60. The sum of the first two numbers is equal to the faurth
AR A FEAT T TIH FANTE 60 B | Tgel & HEATHT &7 TNa1 <l FEar & e’ &1 TR FEA13HT &7 I
Options: VLN
a) 17

b) 14

C) 21 Vel N N
d) 24 )

Correct Answer: 14 gy,
Candidate Answer: 14 f/ )

4

i cdunt of 15%, incurring a loss of 4%. What is the cost price of the

Question 103. The marked price of a laptop is Rs. 12000. In a clearance sale it j
laptop?
T Ui & 3ifd Fed Rs. 12000 §1 38 Frerdd aer # 15 wfaerd ge

Options:

a) Rs. 10200
b) Rs. 10625
c) Rs. 11200
d) Rs. 10275

Correct Answer: Rs. 10625
Candidate Answer: Rs. 10625

4 gfrere &1 g1fer gl §1 AT T T e FAT P

Question 104. A can do a piece of work in 12:days and B in 20 days. If they together work on it for 5 days, and remaining work is completed by C in 3 days, then in
how many days can C do the same work alone?

A TRl &t 12 et 2 3R B 3¢ &6 bt 20 Tt & it &kt €1 I 2t fArere 5 Tt ook b i Y AW &R C 2@ 3 Rt & o fowam S &1 34T: C 3raed 38 b
&I fohetel a1 & g am?
Options:

a) 10 days

10 f&=t

b) 9 days

9 feet

c) 12 days

12 T

d) 15 days

15 &t

Correct Answer: 9 days

9 feet

Candidate Answer: 9 days
9 feet

Question 105. Observe the graph below and answer the following question

Ay g a1v T oY faar &Y 3R Aeafaf@a g & 3cax &



Fuel prices over last 10 years

@ Avg. Price Petrol (Rs.) @ Avg. Price Diesel (Rs.)

6897 12.68 7370

61.47

46.76 48.65 66.79
40.84 i 43.37

36.49 52.03
43.47

2977 2305 3285 34.04 3276
24.35

2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014
Jan Jan Jan Jan Jan Jan Jan Jan Jan Jan Jan

What is the approximate percentage difference in average price of Petrol in 2004 and in 2014?
2004 3T 2014 7 IS & 3HFT T F AT Fhetat FfTered 7 i< §?

Options:

a) 98%

b) 100%

c) 102%

d) 105%

Correct Answer: 102%
Candidate Answer: 102%

Question 106.
2sind
cosf(1+ tan? @)

— =¥ Bl Wdlpd B

cosf{1+ tan?8d)

simplifies to:

Options:

a) cosO

b) cos26

c) sin26

d) sinB

Correct Answer: sin26
Candidate Answer: sin20

Question 107. Ramesh marks his goods 30% above cost price. If he ssells the item for 0 910 after allowing a discount of 15 %, find his cost price.
TR AT TG TR AR T & 30% 3T 37ihied htell ¢ | AT T8 TEI3M 1 15 % Pe & & d1e 3og U 910 F ST § & 9Tl FHed Al |
Options:

a) Rs. 823.5

b) Rs. 758

c) Rs. 814.2

d) Rs. 856.5

Correct Answer: Rs. 823.5
Candidate Answer: Rs. 814.2

Question 108. A shopkeeper has 11 books of same cost price. He sells the first book at a certain price, then he sells second book at a price which is Rs. 1 less than
the selling price of first book and then he sells third book at a price which is Rs. 1 less than the selling price of second book. Following this pattern, he sold all 11
books. If he sells sixth book at its cost price. Find the overall percent profit or loss on selling all 11 books.

Teh GEhIER & U Ueh &1 363 23 1 11 Tl 8| T8 Tgell T&ieh 1 Ueh TR 7 I 997 §, T 36 ST I g@dl qcieh 1 Tgell T&ieh & 1ashd 7o & 18 %A &
FT I radT § AR T a5 el Toes &1 g@dl TFash & faohd Hed § 13 & 7o T ST §| S FA6IER g 11 T8 SadT §| TS 95 Bod! T &l 5l 300 T
ST & Y T 11 EAhT B A IR G T 3721aT gifed ohr feieiet <fiet Y |
Options:
a) 20%
b) 10%
)
gl
11
d) No profit No loss
o I o gifel



Correct Answer: No profit No loss
o o o gifey

Candidate Answer: No profit No loss
o I8 o gifel

Question 109. If two medians BE and CF of a triangle ABC, intersect each other at G and if BG = CG, angle BGC = 120°, BC = 10 cm, then area of the triangle ABC
is:

=fe Fget ABC 1 & anftarant BE 31 CF wah g@k 31 G g R e € 31k a1 BG = CG &, #0T BGC = 120°, BC = 10 % & 7 F{st ABC 7 &vwhed &
Options:

a) 50v3 cm?

503 B2

b) 60 cm?

60 T2

) 25 cm?

25 32

d) 25v3 cm?

25v3 a2

Correct Answer: 25v3 cm?

25V3 Q2

Candidate Answer: 25v3 cm?
25V3 Q2

Question 110. Choose the word opposite in meaning to the given word.
Acrimony

Options: o
a) Harsh

b) Bitterness of manner or words

c) Pleasant AR
d) Inertia {/
Correct Answer: Pleasant

Candidate Answer: Pleasant

Question 111. In the following question, a part of the sentence is underli
case no improvement is required choose 'No improvement is required'.

iven alternatives to the underlined part which may improve the sentence. In

A pair of slippers is cheap nowadays.
Options:

a) slipper is

b) slippers are

c) No improvement

d) are cheap

Correct Answer: No improvement

Candidate Answer: No improvement

Question 112. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:

a) Guerrilla

b) Guarrilla

c) Guerila

d) Georrilla

Correct Answer: Guerrilla
Candidate Answer: Guarrilla

Question 113. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

As the weekend finally rolled around, the people were also too happy to laugh out the ............cceeee. away.
Options:

a) Memories

b) Joys

c) Cares

d) struggles

Correct Answer: Cares

Candidate Answer: Joys

Question 114. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence. In
case no improvement is required choose 'No improvement is required'.



The speech he gave was highly informative.
Options:

a) Deliver

b) Made

c) Give

d) Make

Correct Answer: Made

Candidate Answer: Deliver

Question 115. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence. In
case no improvement is required choose 'No improvement is required'.

She is tall as me.
Options:

a) as tall as one
b) tall like

c) tall like me

d) tall as I am

Correct Answer: tall as I am
Candidate Answer: tall as I am

Question 116. In the following Five Questions, four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning
of Idiom/Phrase.

Dog eat dog
Options:

a) Very vigilant P~
b) Steady manager
¢) Ruthlessly competitive )

d) Hostile and unhelpful

Correct Answer: Ruthlessly competitive
Candidate Answer: Hostile and unhelpful

" w
{/ . N

Question 117. Out of the four alternatives, choose the one which best expresses tl n of’ge given word.

Pandemonium

Options:

a) Pander

b) Chaos

c) Gratify

d) Panic

Correct Answer: Chaos
Candidate Answer: Chaos

Question 118. In the following Five Questions, four alterna
of Idiom/Phrase.

given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning

Fits and start

Options:

a) Regular

b) Unsteady

c) Rapid

d) Puzzled

Correct Answer: Unsteady

Candidate Answer: Rapid

Question 119. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

I shake his hand when he arrived and when he left
Options:

a) I shake his hand

b) when he arrived

c) and when he left

d) No error

Correct Answer: I shake his hand

Candidate Answer: and when he left

Question 120. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.



As I prefer coffee than tea my friends always take the trouble to get me a cup of coffee.
Options:

a) As I prefer

b) coffee than tea

c) my friends always take the trouble

d) to get me a cup of coffee.

Correct Answer: coffee than tea
Candidate Answer: coffee than tea

Question 121. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

The minister has been ................... to the victims.
Options:

a) selfish

b) liberal

C) generous

d) rich

Correct Answer: generous

Candidate Answer: liberal

Question 122. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

The mission of this institution is to ......... young minds to explore their ability.
Options:

a) Catalyse

b) Cackle

c) Circulate

d) Combat

Correct Answer: Catalyse

Candidate Answer: Catalyse

Question 123. In the following question, some parts of the sentences have errors arfdysonie are rrect F|nd out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose nding t;}No Error'.

Nowhere is the resulting confusion more evident except in campaign speeches
Options:

a) Nowhere is the resulting confusion

b) more evident

c) except in campaign speeches

d) made by different campaigners of the same party.
Correct Answer: except in campaign speed
Candidate Answer: Nowhere is the resulting ¢

nt campaigners of the same party.

Question 124. In the following question, some parts of
corresponding to the appropriate option. If a sentence is fi

errors and some are correct. Find out of which part of a sentence has an error and choose
ror choose corresponding to 'No Error'.

The young child singed a very sweet song for the audience.
Options:

a) The young child

b) singed

c) a very sweet song

d) for the audience

Correct Answer: singed

Candidate Answer: singed

Question 125. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence. In
case no improvement is required choose 'No improvement is required'.

Let's go for a walk do we?
Options:

a) aren't we

b) shall we

c) don't we

d) No improvement
Correct Answer: shall we

Candidate Answer: don't we

Question 126. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

Tam e on leave from tomorrow.



Options:

a) escaping

b) running

c) prospecting

d) proceeding

Correct Answer: proceeding

Candidate Answer: prospecting

Question 127. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

The members could not arrive ata ...........cceeeeee regarding the issue.
Options:

a) Judgement

b) Action

c) Policy

d) Consensus

Correct Answer: Consensus

Candidate Answer: Consensus

Question 128. Choose the word opposite in meaning to the given word.

Ignite

Options:

a) Light

b) Rekindle

c) Extinguish

d) Genuine

Correct Answer: Extinguish

Candidate Answer: Extinguish

/f‘/ g . oot
Question 129. In the following question, a part of the sentence is underlined. Below are given altérnatives'to the underlined part which may improve the sentence. In
case no improvement is required choose 'No improvement is required'.

Lot of water has overflowed the tank.

Options:

a) Lot of waters

b) A lot of water

c) A lot of waters

d) No improvement

Correct Answer: A lot of water

Candidate Answer: A lot of water

Question 130. Out of the four alternatives, choo: be substituted for the given words/sentences.

Not clear

Options:

a) Stupidity

b) Obscure

c) Clarity

d) Intensity

Correct Answer: Obscure

Candidate Answer: Obscure

Question 131. In the following Five Questions, four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning
of Idiom/Phrase.

In harness

Options:

a) In office

b) To hold on

c) Gripping

d) In silence

Correct Answer: In office
Candidate Answer: In silence

Question 132. Out of the four alternatives, choose the one which best expresses the meaning of the given word.

Furore
Options:
a) Futuristic
b) Chamber
c) Worry



d) Excitement
Correct Answer: Excitement
Candidate Answer: Worry

Question 133. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:

a) Illigetimate

b) Illegitemate

c) Ilegitimate

d) Illegitimate

Correct Answer: Illegitimate

Candidate Answer: Illegitemate

Question 134. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

One who does or studies without seriousness.
Options:

a) Dilettante

b) Diligent

c) Deliberate

d) Distracted

Correct Answer: Dilettante
Candidate Answer: Dilettante

Question 135. Out of the four alternatives, choose the one which can be substituted for the given words/sentt ces.{

Lively or high-spirited P
Options:

a) Depression .

b) Grave g, S
c) Vivacious

d) Discouraged

Correct Answer: Vivacious f/ .
Candidate Answer: Vivacious

Question 136. In the following Five Questions, four alternatives are given for tl
of Idiom/Phrase.

e underlined. Choose the alternative which best expresses the meaning

Gift of the gab

Options:

a) Eloquent

b) Puzzling

c) Deceptive

d) Embarrassing

Correct Answer: Eloquent

Candidate Answer: Embarrassing

Question 137. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

Make something less severe
Options:

a) Aggravation

b) Mediation

c) Palliation

d) Reduction

Correct Answer: Palliation
Candidate Answer: Reduction

Question 138. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

The old, grey horse that was standing beside the barn had a sad look in its eyes when it saw the shotgun that the farmer was carrying.
Options:

a) The old, grey horse that was standing

b) No error

¢) had a sad look in its eyes when

d) shotgun that the farmer was carrying

Correct Answer: No error
Candidate Answer: shotgun that the farmer was carrying

Question 139. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.



Options:

a) Conscientious

b) Contractaul

c) Corugated

d) Concent

Correct Answer: Conscientious

Candidate Answer: Concent

Question 140. What did Christopher Columbus aim at his first voyage?
Options:

a) Fishing

b) To find a direct trade tour to India

c) To discover new lands

d) Globetrotting

Correct Answer: To find a direct trade tour to India

Candidate Answer: To discover new lands

Question 141. Where were the Santa Maria's remains found?
Options:

a) Florida Coast

b) South coast of Hawaii

c) North coast of Haiti

d) South coast of Haiti

Correct Answer: North coast of Haiti

Candidate Answer: North coast of Haiti

Options:

a) 100 Years : w
b) 300 Years .
c) 400 Years

d) 500 Years .

Correct Answer: 500 Years
Candidate Answer: 500 Years

Question 142. How long was Christopher Columbus's ship laid at the bottom of the sea before it was disc i"éd?>

Question 143. How many other ships were accompanying the Santa Maria in C
Options:

a)2

b) 1

c)4

d)3

Correct Answer: 3
Candidate Answer: 1

Question 144. When was the Santa Maria constructed?
Options:

a) 2003

b) 1492

c) 1460

d) 1462

Correct Answer: 1460

Candidate Answer: 2003

Question 145. What colour of dress Dickinson prefer to wear as an adult?
Options:

a) Red

b) White

c) Black

d) Blue

Correct Answer: White

Candidate Answer: White



